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Exam of Second term- May 2015

Answer the following questions:

Section One:

Question (1):
Assume that a clinic unit has distributed an amount of 12000 oral
contraceptives during last year, as it follows;

Ro= 1000

R1=2000

R3=3000

R4= 6000
And, the numbers of potential clients are divided into three groups:

Ki=100

K2=300

K3 =600
Suppose that the average number of the oral contraceptive
needed/couple/year for the clients K3 is 12 units, and the average
number of the oral contraceptive accepted and used/couple/year for
clients K2 is 8 units, and monthly probability of conception without
using any contraceptive is equal to 0.75.

Compute the CYP as a result of distributing the oral contraceptive
last year.




Question (2):
(A) Use the data in the below table to estimate the number of births
averted by program contraception by age group

Age | Prevalence of Observed | Natural Potential | Female
interval | program fertility | Fertility fertility population
contraceptive | rate/1000 | rate/l 000 | rate/1000 | (thousands) |
15-19 4 35.5 36.9 36.4 374.6
20-24 8 216.2 233.6 227.8 392.2
25-29 15 273.8 334.3 315.1 281.5
30-34 24 2354 3954 3104 175.1
35-39 28 190.3 287.1 272.5 185.7
40-44 a7 85.0 143.1 13385 147.8
45-49 20 23.4 38.9 38.2 125.3

(B) Compute the continuation rates and the failure rates from the data
in the following table:

Months | No woman | No woman | No woman using
discontinuing use | discontinuing use | at the beginning
because of | for all reasons of the interval
contraceptive failure

X Fx Tx Nx

0 2 5 A

1 30.2 465.1 12656.7
2 26.8 237.4 12100.6
3 41.5 520.5 11766.3
4 32.2 178.9 11135.0
5 114 153.0 10965.5
6 i 422.3 10746.0
7 36.9 _ 128.6 10211.6
8 19.8 1315 10043.0
9 28.9 3622 9833.6
10 26.5 Tt 9433.1
11 10.1 116.1 9230.5
12 215 455.0 9136.5




SECTION TWO
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